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(1) 5o+y—3x—6y
=bx—-3x+y—6y
=(5-3)xr+(1-6)y
=2x-5y

(3) (9w+5y)+ (22 —6y)
=9x+5y+2x—6y
=9x+2x+5y—6y
=1llx—y

(5) (5a—3b)—(7a—-b)
=ba—-3b—7a+b
=5a-7a—-3b+0
=-2a-2b
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(1) (=3x+2y) x4
=(-3x) x4+2yx4
=-12x+8y

(3) —4(—2a-3b)
=(-4)x(-2a)—(—4) x3b
=8a+12b

(5) (15a—40b) +5

_15a—40b
5
150400

5 5
=3a—8b

(7)) 3(2a—4b) —4(—a+2b)
=6a—12b+4a—8b

=6a+4a—12b—-8b
=10a—200b
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(2) 6a—3b+a—2b
=6a+a—3b—2b
=(6+1)a+(-3-2)b
=7a—-5b

4) (42°=Tx+2)+ (=52 +x-3)
=4a2*-Tax+2-52"+x—3
=4x" -5 -Tx+x+2-3
=-2—6x—1

(6) (3a’+7x—5)—(—22"+32-6)
=32 +7x-5+224"—-3x+6
=327 +220°+7x—-3x-5+6

=52 +4x+1

(2) (%x—%)xm

(1) —%(—12x+18y)

=<—7§)X(—12x>+(—7§)xl8y
=2x—-3y
6) (—16x+24y) = (-8)
_ —l6w+24y
-8
_ 16w 24y
3 8
=2x—-3y

(8) —2(5x+3y) —3(x—2y)
=—-10x—6y—3x+6y

=—-10x—3x—6y+6y
=—-13%
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(1) 2xx5y
=2X5XxXy
=102y

(3) 6xx(—2x)
=6x(-2)xxXx

= —1247

(5) 24y~ (—3x)
_2AXaxXy.
B 3IxXx

(7) 9x2y%-(—€%y)
3y

"

- _i>

9x yx( 3y

__ 9xAxaxaxy
3Xy

:9xzy+ (_

= —12a"

(9) 242y~ (—8xy) x (—2x)

242y X 2x
dxy

2AX2IX XX XXX Y
XXy

=6x”

(2) (=3a)x (- 5b)
=(-3)x(-5) xaxb
=15ab

4) (=3a)x(-2b)°
=—-3ax (=2b) x (-20b)
=(=3)x(=2)x(=2)xaxbxb
=-12ad’

(6) (-14a*v*) + (-7ab)

_4a’y’
7ab

14X axXaxbXxb
7TXaxXb

=2ab

6X5Xaxbxb
2Xaxb
=-—15b

1) 30xy*+ (-3x) <5y

30y’
3x X by

B0XawxyxXy
3X5X xxXy

5 x=5 y—-20r%. % 3(4w-2)—5(20—3y) Oz KBRS,

3(4x—-2y)-5(2x—-3y)

=12x-6y—10x+ 15y

=2x+9y

=2x5+9x(-2)

=10—-18

=-8 % -8
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2y=3-10x
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